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A RIS R SRR 8k

SRR 24 1A 2H 3A 4 A 5H 68 78 8AH 98 10RA (11 B 128
EHREE (m/s) 1.8 2.1 2.8 2.8 20 2.2 2.1 24 2.1 1.7 1.8 20
=IESUR(C) -69 -14 -27 1.7 6.1 125 215 176/ 140 6.3 02 -23
= xum (°C) 16.7| 172 188 242 262 334 355 365 334 267 217 184
EHFUR(C) 30 6.8 85 128 175 234 266  28.1 238 16.9 12.2 6.5
= IEEE (%) 280/ 296  26.1 217 240 263 354  29.1 342 286 328 339
xenrE (%) 949 949 945 949 943 942 940/ 938 945 945 945 945
EHEE (%) 758 758 712 712 729 745 783 714 787 783 796 735
ErR=E (mm) 51.0 1120 1070 1150 2025 1670 925 540 3120 1560 1600 295
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